Maytag MFX50PNAVS 10 - CONTROL PANEL

SERIES 13 —
BALANCE SWITCH ASSY.

Maytag Commercial Maytag MEX50PNAVS Washer Parts Parts Diagram 10 - CONTROL PANEL
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description

001  NLA Not Available ?C%XM S&NTTEFjo'-

002 23001684 Holder, Screening Plate
003 23002299 Cover, Box

004 23002077 Switch, Out Of Balance
005 23002158 Plate, Mounting

006 23001685 Holder, Screening Plate
007 23002159 Plate, Facia

008 23002084 Holder, Programmer

009 23002160 Holder, Vibration Switch
010 NLA Not Available HOLDER, TERMINAL BOARD
011 NLA Not Available WASHER, MICROSWITCH
012 NLA Not Available NUT, MICROSWITCH

013 NLA Not Available PLATE, SCREENING

014 23002162 Bolt

015 23002300 23001971 Screw

016 23002219 Device, Operating


http://www.pwslaundry.com/c-299362-commercial-maytag-mfx50pnavs-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7798055-maytag-23001684-washer-holder-screening-plate.html
http://www.pwslaundry.com/i-7798363-maytag-23002299-washer-cover-box.html
http://www.pwslaundry.com/i-7798233-maytag-23002077-washer-switch-out-of-balance.html
http://www.pwslaundry.com/i-7798270-maytag-23002158-washer-plate-mounting.html
http://www.pwslaundry.com/i-7798056-maytag-23001685-washer-holder-screening-plate.html
http://www.pwslaundry.com/i-7798271-maytag-23002159-washer-plate-facia.html
http://www.pwslaundry.com/i-7798235-maytag-23002084-washer-holder-programmer.html
http://www.pwslaundry.com/i-7798272-maytag-23002160-washer-holder-vibration-switch.html
http://www.pwslaundry.com/i-7798273-maytag-23002162-washer-bolt.html
http://www.pwslaundry.com/i-7798189-maytag-23001971-washer-screw.html
http://www.pwslaundry.com/i-7798300-maytag-23002219-washer-device-operating.html

017 NLA Not Available BOLT (M8X15)

018 23002034 Nut

019 23002201 Microprocessor

020 23001692 Keyboard

021 23003744 23003745 Controller, Apl280ne V1.04
" 23003745 Controller, Apl280ne V1.04

022 23001082 12001896 Kit- Key S

023 23002163 Hole, Inspection

024 23001088 23002473 Rubber, Protective

025 23001721 Board, Terminal

026 23001722 Board, Terminal

027 NLA Not Available LABEL, EARTH

028 NLA Not Available LABEL, KEYSWITCH

029 23001690 Screw, Distance

030 23001263 Washer

031 23001056 Ring, Shaft Locking

032 23001361 Bolt

033 NLA Not Available SCREW (M3X22)

034 23002165 Ventilator

035 23001055 23001014 Nut M4

036 23001056 Ring, Shaft Locking

037 23001708 Washer

038 23002166 Grate, Air

039 23001091 Passage, Cable

040 23002167 Grommett, Rubber

041 23002196 Protector, Cable

042 23001712 Weight, Adjustment

043 23001053 Nut

044 23001054 Washer, Locking

045 23002097 Not Available LABEL, PROGRAM

046 23002025 Label, Electrostatic Sensitive

047 23001550 Sticker, Service Warning

048 23002168 Grate, Air

049 23002169 Holder, Terminal Boards

050 23001006 Lock, Top Panel

051 23001009 Hook, Lock

052 23001008 Nut, Lock

053 23001011 Nut

054 23001007 Washer M21x27x1

055 23002197 Med. Strain Relief Nut

057 NLA Not Available LABELS, DESCRIPTION

058 23002222 Cover, Ventilator

059 23002301 LABEL, EL.FLASH

060 23002398 23001089 Screw

061 23002503 23002950 Lock Washer M4

062 23003666 23001014 Nut M4

063 23002092 Bolt

064 23002086 Washer, Microswitch

065 23003711 23004069 Nut, Microswitch

066 23003712 Adjustment Weight

067 23003713 Balance Switch Holder

" 23003977 Microswitch


http://www.pwslaundry.com/i-7798217-maytag-23002034-washer-nut.html
http://www.pwslaundry.com/i-7798293-maytag-23002201-washer-microprocessor.html
http://www.pwslaundry.com/i-7798058-maytag-23001692-washer-keyboard.html
http://www.pwslaundry.com/i-7799217-maytag-23003745-washer-controller-apl280ne-v1-04.html
http://www.pwslaundry.com/i-7799217-maytag-23003745-washer-controller-apl280ne-v1-04.html
http://www.pwslaundry.com/i-7796367-maytag-12001896-washer-kit-key-s.html
http://www.pwslaundry.com/i-7798274-maytag-23002163-washer-hole-inspection.html
http://www.pwslaundry.com/i-7798470-maytag-23002473-washer-rubber-protective.html
http://www.pwslaundry.com/i-7798068-maytag-23001721-washer-board-terminal.html
http://www.pwslaundry.com/i-7798069-maytag-23001722-washer-board-terminal.html
http://www.pwslaundry.com/i-7798057-maytag-23001690-washer-screw-distance.html
http://www.pwslaundry.com/i-7797821-maytag-23001263-washer-washer.html
http://www.pwslaundry.com/i-7797680-maytag-23001056-washer-ring-shaft-locking.html
http://www.pwslaundry.com/i-7797880-maytag-23001361-washer-bolt.html
http://www.pwslaundry.com/i-7798275-maytag-23002165-washer-ventilator.html
http://www.pwslaundry.com/i-7797657-maytag-23001014-washer-nut-m4.html
http://www.pwslaundry.com/i-7797680-maytag-23001056-washer-ring-shaft-locking.html
http://www.pwslaundry.com/i-7798062-maytag-23001708-washer-washer.html
http://www.pwslaundry.com/i-7798276-maytag-23002166-washer-grate-air.html
http://www.pwslaundry.com/i-7797697-maytag-23001091-washer-passage-cable.html
http://www.pwslaundry.com/i-7798277-maytag-23002167-washer-grommett-rubber.html
http://www.pwslaundry.com/i-7798288-maytag-23002196-washer-protector-cable.html
http://www.pwslaundry.com/i-7798063-maytag-23001712-washer-weight-adjustment.html
http://www.pwslaundry.com/i-7797678-maytag-23001053-washer-nut.html
http://www.pwslaundry.com/i-7797679-maytag-23001054-washer-washer-locking.html
http://www.pwslaundry.com/i-7798216-maytag-23002025-washer-label-electrostatic-sensitive.html
http://www.pwslaundry.com/i-7797978-maytag-23001550-washer-sticker-service-warning.html
http://www.pwslaundry.com/i-7798278-maytag-23002168-washer-grate-air.html
http://www.pwslaundry.com/i-7798279-maytag-23002169-washer-holder-terminal-boards.html
http://www.pwslaundry.com/i-7797649-maytag-23001006-washer-lock-top-panel.html
http://www.pwslaundry.com/i-7797652-maytag-23001009-washer-hook-lock.html
http://www.pwslaundry.com/i-7797651-maytag-23001008-washer-nut-lock.html
http://www.pwslaundry.com/i-7797654-maytag-23001011-washer-nut.html
http://www.pwslaundry.com/i-7797650-maytag-23001007-washer-washer-m21x27x1.html
http://www.pwslaundry.com/i-7798289-maytag-23002197-washer-med-strain-relief-nut.html
http://www.pwslaundry.com/i-7798301-maytag-23002222-washer-cover-ventilator.html
http://www.pwslaundry.com/i-7798364-maytag-23002301-washer-label-el-flash.html
http://www.pwslaundry.com/i-7797695-maytag-23001089-washer-screw.html
http://www.pwslaundry.com/i-7798734-maytag-23002950-washer-lock-washer-m4.html
http://www.pwslaundry.com/i-7797657-maytag-23001014-washer-nut-m4.html
http://www.pwslaundry.com/i-7798238-maytag-23002092-washer-bolt.html
http://www.pwslaundry.com/i-7798237-maytag-23002086-washer-washer-microswitch.html
http://www.pwslaundry.com/i-7799497-maytag-23004069-washer-nut-microswitch.html
http://www.pwslaundry.com/i-7799201-maytag-23003712-washer-adjustment-weight.html
http://www.pwslaundry.com/i-7799202-maytag-23003713-washer-balance-switch-holder.html
http://www.pwslaundry.com/i-7799416-maytag-23003977-washer-microswitch.html

068 23001146 Coil

070 23003713 Balance Switch Holder

072 23002862 23001708 Washer

074 23003716 Nut M5

laundry company*

laundry company®

laundry company*



http://www.pwslaundry.com/i-7797738-maytag-23001146-washer-coil.html
http://www.pwslaundry.com/i-7799203-maytag-23003714-washer-bolt-m5x16.html
http://www.pwslaundry.com/i-7799202-maytag-23003713-washer-balance-switch-holder.html
http://www.pwslaundry.com/i-7799204-maytag-23003715-washer-washer-balance-switch.html
http://www.pwslaundry.com/i-7798062-maytag-23001708-washer-washer.html
http://www.pwslaundry.com/i-7798460-maytag-23002452-washer-nut-m4-lu.html
http://www.pwslaundry.com/i-10763571-maytag-8184504-washer-nut.html
http://www.pwslaundry.com/i-7799205-maytag-23003716-washer-nut-m5.html

	Maytag MFX50PNAVS 10 - CONTROL PANEL

